[ Efficiency vs vertpos |
= 0.2
£o0.18
g
5.0.16
8}

30.14
o

o012
0.4
0.08
0.06
0.04
0.02

T
b

&

+ .

I .
O

i .

RN .

1072 107 1

ml;{

10 0?
TP vertr (cr%)
Efficiend —— %g

i Cm‘a ggﬁ..n{vmu. +660evt
E ‘Eﬁegé %ﬁéﬁ‘ﬁ TRORSLTLIER2 1000evt
~ 0.2

L s e

AU
ST ST TERR (1) AT SIS S
> I . . . 3 .
2 Eo (I B | : :
R e
S 0.12F b
o F : :
0.0t il

0.08F -+t

0.08F == { it

004+ {-fHl

(0107 SERRRS SER 811K

10 20 30
TP vert z (cm)

N 05
o
o T T e
Soag oo
03
oag
ozt
ot
0.1 ; ' ;
0.05

s Sim.

effic |ency

i
'_*_—N*I?
— ] j

M

=

Ratio

L S A —

3

-20 —15 -10 5 0 75 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


